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m E 1. SHA7He U CHHEN B i 13, SHACHH
7 Bm | Hm | Am | K s | B @ HEQIR| it Tt xgxmat
1 1000 | 0300| 0300 | 000225 | 1~12 2ol Mu | Pu | Vu | @Mn| @Pn | oVn |z&z |xcEz
_ _ 10 10 21~35 ALzl (tf - m) | (tonf) | tonf) |- m)| (tonf) | (tonf)
: - —= FEb [ 1210 |19.430]6.060 | 19.786 | 317.702 | 22.308
—L - : - D19@125 |D13@400
- 3l=x3st ok 1530 |20.240[5.940 | 21589 | 285622 | 22.339 Cas
} ZHe 2130 | 213604720 | 23778 238427 | 22.383 27EA
- CASE I :1.54 X A% +1.8 x Qhibo] hal5-+1.8 x thageot
- CASET :0.99 X 215 +1,8 x ko] 2515+1, 8 X 2749t - AyjEy
- CASE T :1.00X AE=+1.0 X QFdlo| 9451 55+1. 0 x k220 S I dAE FERM)
- Aol AR, ANo|$ksE(5.997t/m? ), Xt

B H 12, AT Al AE(Woelfer34! 0|8)

(1.423t/m?)

- Z[of o] A= CASE 1 9] slg=ghe

Aol 28

- AR AR E AR FERte 2 BEsle] W

wrslo] AR AT s

AT S | EIHZo| | KPR | BEEY | ATRg H 2
L(m) Et/n?) Rm) | Ki/n?)
21,33 0.322 240,000 5,00 1543
22,23, 31,34 0643 240,000 5.00 3,086 K-EL
24,30 0723 | 240000 | 500 | 3486 TR
25~29 0.802 240,000 155 12418
3 3% 0505 | 240000 | 500 | 2856
B 32 4. XHEsE VIeE
gtol &atE ey
S0 Nenin: 1.423 tonf/m’
=
> % -~ -

oy

Hp =0.4 x (B+Hy) =3.164m QHixoZ QHEXO|M AREI=
P = x Hp1 +1,x Hp2 Fy=PX-Tan}
= 2.3x1.741 + 1.4x1.423
= 5.997 tf/nt
_ IXHp A
01714, Hp :0[25151 IV
’ Sholersis P = X Ht+ry
P xiloRisrS = $X4270 X1
A — 1.423 tf/nt
I, (ERISERSE
B :E/EZ =3640m
H, :E/g&0] = 4270m
m 13 5, sfiAzat
DHEE e
T2
153 tontm
-
21atontm
e Bl

19.43 tont

20.24 tont

21.54 tont
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S
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14 = i
g e i e
® 2 7. mdelz BECEE
CHWS4
L
A BRM
P
g FERTY 232
= fck=210kot/cm®
SEE R Y

BIUE A0/
Tok=240kgl/cm®

" PVCREF
(@50}

o&é‘fji\t (T=30cm)
A& GRS A2 (2200) SHUNS (T-15cm)
L0 zos, me  go poo ws 28|30,

3em

92 U288

I

© TR 2

HEZA
fck =240.0 kgf/er £y =3000.0 kgf/en
@c=0.70 @v=0.80 a= 0.80

=3t HHIE Mu = 1.210 tfm

QF=2 HT Asc = 22,9200

& de= 5cm) : D19 @ 12,5 cm

rzﬂﬁiAPEH pal=%
¢ =6000/(6000+y)*d = 16.667 cm
k1 =0850 a=kl-c=14.17cm
Cck = 0.85 - fck - B - H = 612000.0 kgf
2454 x =(Cck - H/2+fy - Asc - de + fy -
Ast - d)/(Cek + fy - Asc + fy - Ast)
=15.00 cm
FHE Cc=0.85- fck - a - b=289000.0 kgf
=HT Cs=(fs—0.85 - fck) - Asc =64084.3 kgf
(esc) ey — fs = fy = 3000.00 kgf/en)
IR Ts = fy - Ast = 68760.0 kgf
HE=Y Pb=Ce+Cs— Ts=284324.3 kef
HHPLHE Mb = Cex—a/2) + Csx—dc) + Ts(d—x)
= 3616360.0 kgf - cm

23 b

e min =293 cm {e=6.23 cm

— 20§22 Trial & Error Method & Akl
¢=2312cm= 7Pg3IH.. a=kl-c=19.65cm

fsc =3000.00 kgf/en®,  fst = 487.2 kgf/ent

Pn=0.851fck -a- B+ Asc - fsc— Ast - fst
= 453850,7 kef
Mn=0.85fck -a- B &k-a/2)+ Asc - fsc - (x—dcc) —
Ast - fst - A
= 28265810 kgf - cm
€ =Mn/Pn=6228cm = e=06.227 cm —— say O.K,

7y AE
(Pn = 317.702 tonf > Pu =19.430 tonf .".O.K
OMn=19.786tf - m > Mu=1210tf -m ..OK

Aok A
OvESce= Ov*F0.53*(1+0.0071*Pu/Ag)*
Vlock)/*B*D/1000 =17.18 tonf
Su = 0.5%*0vise .. At Eagls
ARG AR 1 51 4(Ds)=DI13
oF2]<=(Ns)= 2.7 EA =3
7HA(s)= 40 cm
AR 5 =40.0 cm ) a4
=min (60cm, 0.5D)

=125cm . 7=
AT Av=E TG A AT (Ns) = 3.42 cm2
DOv*Ss = OvF Av¥oy*D/(s%1000) =5.13 tonf
Ov*Sn = Ov*Se + Ov*Ss =22.31 tonf ) Su
=6.06 tonf
~.OK

© oA

HEZXHA

fek = 240.0 kgf/err - fy = 3000.0 kgf/er
?c=0.70 v =0.80 a= 0.80
=3 HHIE Mu=1530 tf - m

=352 Pu=20.240 tonf

THH O] =7 H=30.000 cm  T$12£B=100.000 cm

P

a710] D=25.000 cm IE5F7 De= 5,000 cm
k8- e =7.559 cm

o

A2 AL Ast = 22.920cn?
Hde= 5cm) i D19 @ 12.5cm

—
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QIZ2 A Asc = 22,9200
¥t dec= 5cm): D19 @ 12.5cm

HaAle] AE
¢ =6000/(6000+y)*d = 16,667 cm
kl =0.850 a=kl-c=14.17cm
Cck =0.85 - fck - B - H = 6120000 kgf
2454 x=(Cck - H/2 +fy - Asc - de +fy - Ast - d)/
(Cck + fy - Asc + fy - Ast)
=15.00 cm
FIE Ce=0.85 - fck - a - b=289000.0 kgf
A=A Cs = (fs—0.85 - fck) - Asc = 64084.3 kgf
(esc) gy — fs = fy = 3000.00 kgf/enr)
OIAHT Ts = fy - Ast = 68760.0 kgf
B2 Pb=Cc+ Cs — Ts = 2843243 kgf
FHLHE Mb = Celx—a/2) + Csx—dc) + Tsld—x)
= 3616360.0 kgf - cm
BEAX eb=Mb/Pb=1272cm
e{eb ———— > =Tk Y

aLR] 74
e min=2.93cm {(e="7.56 cm
—— :20] 325 Trial & Error Method 2 A4kl
c=2124 cm= 73, a=kl-c=1805cm
fsc = 3000.00 kgf/en,  fst = 1062.3 kgf/en’
Pn=0.85fck - a - B+ Asc - fsc—Ast - fst =408031.2 kgf
Mn=0.85fck - a-B- x-a/2)+ Asc - fsc - (x—dcc) —
Ast - fst - (A%
=3084206.0 kgf - cm
€ =Mn/Pn =7.559 cm = e =7.559 cm
— say OK.

AR=al =4
@Pn = 285.622 tonf > Pu= 20.240 tonf ..O.K
@Mn = 21.589tf - m > Mu= 1530tf-m ..OK

Ao A
Ov¥Se = @v*0.53%(1+0.0071*Pu/Ag)*V (ock)

94 U712 88

*B*D/1000 = 17.21 tonf

Su < 0.5*ov*Se ... AT dags

ARG AT A De)=DI3  thElsx(Ng)= 2.7 EA
57 ()= 40 em

ARSI s =40.0 em ) FA7F4 = min (60cm, 0.5D)

=125cm.. =
ARSI Av=dL 7 H% HA*E =Ny
=3.42 cm2

OV*Ss = OvFAVFoy*D/(s*¥1000) = 5.13 tonf
Ov*Sn = Ov*Sc + Ov*Ss = 22.34 tonf ) Su
=5.940tonf .~.O.K

fck = 240.0 kgf/em®  fy = 3000.0 kgf/en?
@c=0.70 @v=0.80 a= 0.80
St IHE Mu = 2.130 tf - m
3% ¥ Pu = 21.360 tonf
He] A4 H= 30.000 cm
$1% B=100.000 cm
A Z oD = 25.000 cm
557 De= 5.000 cm

2+ g H A e = 9972 cm

1

oy

40 Mo

QAN AT Ast = 22.920cnt
e+ (dc= 5cm) : D19 @ 12,5 cm
== =T Ase = 22,920

HT 7 2T

&t (dc= 5ecm): D19 @ 12.5cm

Ak AE

¢ =6000/(6000+fy)*d = 16.667 cm

k1 =0850 a=kl-c=1417cm

Cck =0.85 - fck - B - H=612000.0 kgf
2454 x =(Cck - H/2+fy - Asc - de +fy - Ast -

d/(Cck + fy - Asc +fy - Ast)
=15.00 cm

TAYE Cec=0.85 - fck - a - b =289000.0 kgf

U=HT Cs = (fs-0.85 - fek) - Asc = 64084.3 kgf
(escy ey — fs = fy = 3000.00 kgf/enr)

QIAFHTL Ts = fy - Ast = 68760.0 kgf
HE= Pb=Cc+Cs— Ts=284324.3 kef
FHHE Mb = Celx—a/2) + Cs(x—dc) + Ts(d—x)
= 3616360.0 kgf - cm
HEHA eb=Mb/Po=12.72cm

e Ceb > st

emin=293cm {e=9.97 cm

——— A1) -§2S Trial & Error Method = AWt}
c=1865cm= 7Pk, a=kl-c=1585cm
fsc =3000.00 kgf/er®,  fst =2043.6 kgf/or
Pn=0.85fck -a-B+ Asc - fsc— Ast - fst

=340609.7 kgf
Mn=0.85fck - a-B- x—a/2) + Asc - fsc - (x—dcc)
— Ast - fst - (d—x) = 3396839.0 kgf - em

€=Mn/Pn=9973cm = ¢=9972cm

— say OK.

7V A
@Pn = 238427 tonf > Pu= 21.360 tonf ."O.K
OMn= 23718t -m > Mu= 2130tf -m ."OK

Aok Ag
@v*Sc = Ov*0.53*(1+0,0071*Pu/Ag)*
T (eck)*B*D/1000 = 17.25 tonf
Su < 0.5*0vie ... AtET s
AR A 514 (Ds)=DI13 thel=(Ns)= 2.7 EA
574 (s) =40 em
ARE7HE s = 40,0 cm ) 2|47F4 = min (60cm, 0.5D)
=125cm ... 7=
AR Av = A 7 A AR ET(Ns)
=3.42 cm2
Dv*Ss = Ov*Av¥oy*D/(s¥1000) = 5.13 tonf
@v*Sn = Ov*Sc + Ov¥Ss = 22.38 tonf ) Su
=4720tonf ..O.K
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